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for b in range(B):
for d in range(D):
for i in range(H_out):
for j in range(W_out):

h_start = i *x stride

w_start = j * stride

for ¢ in range(C_img):

for ki in range(K):
for kj in range(K):
h = h_start + ki - padding
w = w_start + kj - padding
if @ <= h <Hand 0 <=w < W:
grad_img[b, c, h, wl += grad_out[b, d, i, j] * filter[d, c, ki, kjl

return grad_img, grad_filter
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import torch

a = torch.tensor([[1,2], [3,4]])

b = torch.tensor([[1,-1]])

c = torch.tensor([[1,-1], [1,-11])
print('a_info:\n', a.shape,'\n', a, '\n'+"-"%20)
print('b_info:\n', b.shape,'\n', b, '\n'+"-"%20)

print('c_info:\n', c.shape,'\n', c, '\n'+"-"%20)
ab=a+b

ac=a+c

print('ab:\n', ab)

print('ac:\n', ac)

print('if ab == ac', ab == ac)
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# rearrange
import torch
from einops import rearrange

a = torch.tensor([[1,2], [3,41])
b = rearrange(a, 'hw —> w h')
c = rearrange(a, 'hw—->11huw')

print('a_info:\n', a.shape,'\n', a, '\n'+"-"%20)
print('b_info:\n', b.shape,'\n', b, '\n'+"'-"%20)
print('c_info:\n', c.shape,'\n', c, '\n'+"'-"%20)
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# device
import torch

a_info:

torch.Size([2, 2])

tensor([[1, 2],
[3, 411)

b_info:
torch.Size([1, 2])

tensor([[ 1, -111)

clinfio:
torch.Size([2, 2])
tensor([[ 1, -1],

(158215

ab:

tensor([[2, 11,
[4, 311)

ac:

tensor([[2, 1],
[4, 311)

if ab == ac tensor([[True, Truel,
[True, Truell)

a_info:

torch.Size([2, 2])
tensor([[1, 21,
[3, 411)

b_info:

torch.Size([2, 2])

tensor([[1, 31,
[2, 411)

c_info:
torch.Size([1, 1, 2, 2])
tensor([[[[1, 21,
[3, 41111)

device = torch.device("cuda" if torch.cuda.is_available() else "cpu")

# the defalut device will be cpu
a = torch.tensor([[1.,2.]1, [3.,4.1])
print('a.device', a.device)

a = a.to(device)
print('a.device', a.device)

a.device cpu
a.device cuda:0

# if the tensor and the model are not on the same device
# the output will be on the the same device

model = torch.nn.Linear(2, 1)

model.to(device)

print('-'%20)

print('model.device', next(model.parameters()).device)
print('a.device', a.device)

output_a = model(a)

print('output_a.device', output_a.device)

#else if the tensor and the model are not on the same device,

# their will be an error
b = torch.tensor([[1.,2.], [3.,4.]1])

print('-'%20)
print('model.device', next(model.parameters()).device)
print('b.device', b.device)

output_b = model(b)
print('output_b.device', output_b.device)

model.device cuda:@
a.device cuda:0
output_a.device cuda:@

model.device cuda:@
b.device cpu

RuntimeError: Expected all
tensors to be on the same
device, but found at least
two devices, cuda:@ and cpu!
(when checking argument for
argument matl in method

wrapper_CUDA_addmm)
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from copy mrporC epergy
= dal/f&ow(%)




